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ETIER= 0 0 0
NG ANA S 154,000 296,000 (142,000)| 7] E} - A} 22 = 154,000
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2013 2013
* FAqua| mage | TF wEe
A LEHAY /7 B AR F S50 144,000
AehE 27 e Ak 5] 8,000
AT HE 2,000
7| EfH| § SRR 5 0 0 0
AT SHEXE 0 0 0
UEI|ZHERE 0 0 0
eI FHER = 0 0 0
ZIEP |2 ERE 0 0 0
HEIXE 0 0 0
7| Et| SRR & 0 0 0
A F-EE A 120,665 180,930 (60,265)
B3 0] 42k 120,665 180,930 (60,265)
SRR Rk 120,665 180,930 (60,265)| AN ST 2] A4 120,665
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2013 2013 )
ki B =7 Al =
*oE zAdque | pane | FF 4 & 2
FARSAE (A E) 54,665
RS AE () 66,000
71 Ep LA A o) 7 A 0 0 0
712 F o3t 0 0 0
ZA7 BT 7 A 0 0 0
m. 7| &) A=
6,600,000 2,852,705 | 3,747,295
71 g A= 6,600,000 2,852,705 3,747,295
AR Ie e 6,600,000 2,852,705 | 3,747,295
7] 2k o] 2} 6,600,000 2,852,705 | 3,747,295 | 7] 2k o] 2} = 6,600,000
7] 4,880,016
A B S AlE 616,051
7le o)A 612,123
7] e} 491,810
A& A4t FA(I + I+ D) 93,359,640 | 99,357,818 | (5,998,178)




